Part One: Reading. (15 points)
A. Comprehension. (08 pts)
Read the text then do the activities that follow.

Space Exploration

The possibilitv of exploring space has long excited people in manv walks of life, for most of the
latter 20% century and into the early 21° century, only national governments could afford the very high

costs of launching people and machines into space. mﬁﬁwmc: exploration had to serve
very broad interests, and if indeed has done so in a variety of ways.
A%

Government space programs have increased knowledge, served as indicators of national prestige
and power, enhanced national secunty and military strength and provided significant benefits to the
general pub]i the private sector could profit from activities in space, most notably the use
of satellites as telecommunication, commercial activity has flourished without govemment funding. In the

period uftreprenﬂus believed that there were several other areas of commercial
potential in space, mainly privately-funded space travel.

NASA experts also believe that more investment in exploration of space will lead to an enhanced
discovery of solar systems in the cosmos and a deeper understanding of the universe surrounding our

planet, including asteroids, planets, stars and objects that orbit in and near to our galaxy.

Adapted from: Space exploration - History of space exploration | Britannica

1. Choose the letter that corresponds to the right answer.

The text is: Ea. expository ) b. argumentative C. narrative
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2. Write the answer which best completes the statement.

A. The possibilitv of exploring space has long excited people mmanv ... . of life. alnwall g dpiiliall duanll cals
@ b) levels c) goals
B. Onlv national governments could ........ the costs of launching people and machines into space.
a) expand b) improve Q}j;;m,a@
C. Govemment space programs provided ........._ enefits to the general public.
a) slight ) remarkable ¢) individual
D. Commercial activity has ........... without govemment funding.

a) Stagnated b) evolved @

3. Answer the following questions according to the text.

a. Who 'cnuld afford the costs of space exploration in the past two centuries?

b. Are government-funded space programs beneficial? Give 2 arugments.
a. Why will it be important to invest in exploration of space?

—

4. Who or what do the underhined words refer to in the text?

a. It (§) b. Where (§:) c. The period (§:)
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B. Text Exploration.

1. Find in the text words or phrases that are closest in meaning to the following.
[ aun clas N\ € Sending (§1) b. Tirevolve (&) o« |

2. Divide the following words into roots and affixes.
intemational — scientist — effectjve - supermassive

SvPer o oSS FUe
- Prefix Root Suffix
inbe y Ek.lct SR “"Q

7 %ﬁq_d\ RN

3. Join the pairs of sentences using the conjunctions between brackets

<
1. a- Humans can’t stay nr;f the moon. It is impossible to live on the mﬂ.}n (Because of) L l EB

b- HUMW;QQ\*E%ﬂ-&IJhLLQHEQ_\Q_ A U\. B Pﬁ‘.‘;i

2. a-Telescopes are advanced inventipns. Telescope can identify uh]:cts in spa:c (Such...th He
b- I,Qlez.g.c:u(a,tg_uiﬂ..&ht adlascdBiod Baen Can (de D{—\X%/

\
4. Fill in the gaps with words from the kst given. Ao ﬁ‘f“h

gﬂaﬂﬁmn

A light vear is an. S, .Sk'dh A\.(/.. measurement of the distance that light can travel in one year.
The speed of... (1. a‘i'\\. “““ is about 300,000 km per second. The light vear is used in astronomy
because the universe is,ﬁm.g,(qu- . Space objects such as stars and...
hundreds, thousands or millions of light vears away.
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Qenple and citiZens in vour city. T _

Part Two: Written Expression. (05 points)
Choose ONE of the following topics.

Topic One:
Experts specialized in astronomv claim that a big planet will collide with earth in the future and
cause a massive damage to our planet. Wnte an article of about 80 words in which vou suppose what

would happen if another planet collided with earth. Use conditional type 2 to express hvpotheses

You may use the following notes:
* Ecosystem destruction
¢ Eruption of volcanoes
® Sealevel rise
¢ Earth orbit disturbance

Topic Two:

You are the head of the consumers’ rights association in vour local city and vou noticed how
companies started using unethical tvpes of advertising to increase their sales.

Write a speech of about 80 words about the negative consequences of advertising to sensitize
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